e F oA AR ALY

DO x24+2x+1=x%-1 @ x*+3=(x-1)?
® (x=1)(x+2) =4x @ x3-x*+2x=0

B 2x-5=0



2. H&F x=-30] 7k S oA A2 (dH 2 7N)

® x(x+2)=0 @ x*+2x-3=0
® x2+5x+6=0 @ 2x2-x-1=0

B 2x2+4 =0



2522 -x-15=00 &2 AL2?

O x-3=0F=2x+5=0 @ x+3=0F=2x-5=0
@ x-3=0F=2x-5=0 @ x+5=0E=2x+3=0

B x+5=0EX=92y-3=0
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@D 4x2+4x-40=0
® 4x2+4x-48=0

B 4x2 +4x—-56 =0

& obo] 42 o] A%7} 4 9l o2

@ 4x2+4x-44=0

@ 4x> +4x-52=0



17. 7}29] Zoj7} Alze] Aol Rt dem 71 AAZF] Wol7} 60cm? U
w), 7hzo] Lol

@D 12cm @ 10cm ® 8cm @ 6ecm 3 4em
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@D 15cm @ 18cm ® 12cm @ 10cm 3 16cm
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